JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
1) | Saisir(T) | 13|10 |14 | 15| 9 | A.Tx6-8 B.Tx5-11 .
Sortir 8| 5|9 |10 4| CT-5 D.Tx5+7 '
2.
2) | Saisir(N) | 5|9 |10| 8| 4| ANx5-9 B.Nx9 ;
Sortir 16 | 36 | 41 | 31| 11| C.Nx9+9 D.Nx5 '
4,
3) | Saisr(K) | 4 |10 9 | 5| 8| AKx3-9 B.K x2 :
Sortir 17 |29 | 27 |19 | 25| C.Kx2+12 D.Kx2+9 '
6.
4) | saisr(U | 4| 8|10 5| 9| AU+4 B.Ux4+9 ,
Sortir 25|41 | 49| 29 | 45| C.Ux9 D.Ux4+11 '
8.
S) | Saisir(z) |10 5| 9| 8| 4| A.Zx6-9 B.Zx7-8 o
Sortir 16 | 11 | 15| 14 | 10 C.Z+8 D.Z+6
10.
6) | Saisr(d) | 8 |10 9| 4| 5| A.Jx6 B.Jx6+10
Sortir 48 | 60 | 54 | 24 | 30 | C.J+7 D.Jx6-6
)| Saisir(S | 4| 8] 9|10| 5| A.S+4 B.S+8
Sortir 8 |12 13| 14| 9 | C.Sx8 D.Sx 4
8 | Saisr(R) | 4| 9 |10| 8| 5| ARx7-11 B.Rx7-9
Sortir 19 | 54 | 61 | 47 | 26 | C.R+7 D.Rx9
9) | Saisr(L) |10| 8| 9| 4| 5| ALx9-12 B.Lx9
Sortir 9 | 72| 81|36 | 45| C.L+10 D.L x 8- 10
10) | Saisir(P) | 8| 9| 4 |10| 5| APx2+5 B.Px5
Sortir 21| 23| 13| 25| 15| C.Px4-5 D.P+2
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
1) | Saisir(T) | 13|10 |14 | 15| 9 | A.Tx6-8 B.Tx5-11 . C
Sortir 8| 5|9 |10| 4| CT-5 D.Tx5+7 '
> A
2) | Saisir(N) | 5|9 |10| 8| 4| ANx5-9 B.Nx9 ; D
Sortir 16 | 36 | 41 | 31 | 11 C.Nx9+9 D.N x5
4. B
3) | Saisr(K) | 4 |10 9 | 5| 8| AKx3-9 B.K x2 : D
Sortir 17 | 29 | 27 |19 | 25| C.Kx2+12 D.Kx2+9 '
6. A
4) | saisr(U | 4| 8|10 5| 9| AU+4 B.Ux4+9 , A
Sortir 25|41 |49 |29 | 45| C.Ux9 D.Ux4+11
g. B
S) | Saisir(z) |10 5| 9| 8| 4| A.Zx6-9 B.Zx7-8 o B
Sortir 16 | 11 | 15| 14 | 10 C.Z+8 D.Z+6
0. A
6) | Saisr(d) | 8 |10 9| 4| 5| A.Jx6 B.Jx6+10
Sortir 48 | 60 | 54 | 24 | 30| C.J+7 D.Jx6-6
)| Saisir(S | 4| 8] 9|10| 5| A.S+4 B.S+8
Sortir 8 |12 |13 14| 9 | C.Sx8 D.Sx 4
8 | Saisr(R) | 4| 9 |10| 8| 5| ARx7-11 B.Rx7-9
Sortir 19 | 54 | 61 | 47 | 26 | C.R+7 D.Rx9
9) | Saisr(L) |10| 8| 9| 4| 5| ALx9-12 B.Lx9
Sortir 9 | 72| 81|36 | 45| C.L+10 D.L x 8- 10
10) | Saisir(P) | 8| 9| 4 |10| 5| APx2+5 B.Px5
Sortir 21| 23| 13| 25| 15| C.Px4-5 D.P+2
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|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir@ | 6| 7|5 |10| 8| AJx2-5 B.Jx6 .
Sortir 8| 9|7 |12]|10| CJIx6+6 D.J+2 '
2.
2) | Saisir(U) | 13| 15|10 |12 |11 | A.Ux8+8 B.U-5 ;
Sortir 8|10 5| 7| 6| CuUxs D.Ux8 '
4,
3) | Saisr(w) | 5|6 |10 8| 7| Awx4 B.Wx4+9 i
Sortir 29 13349 |41|37| CWx9 D.Wx4+11 '
6.
4) | Saisr(N) | 5|6 | 8| 7 [10| ANx11-3 B.Nx8-5 .
Sortir 40 | 48 | 64 | 56 | 80 | C.N+3 D.Nx8 '
8.
S5) | Saisr(P) | 8 |10 7 | 6| 5| A.P+3 B.Px3+11 o
Sortir 11 | 13 | 10| 9 8 C.Px3-10 D.P+9
10.
6) | Saisr(v) | 7|10 8| 6 | 5| AV+6 B.V+7
Sortir 35| 53|41 |29 | 23 C.Vx5-7 D.Vx6-7
)| Saisir(z) | 5| 8| 7 |10| 6 | A.Zx6 B.Zx8+8
Sortir 22140 | 34 | 52| 28| C.Zx6-8 D.Zx6-9
8 | Saisr(K) |10| 8 | 5| 6| 7| AKx3 B.Kx3+8
Sortir 38|32 |23|26| 29| CKx8+8 D.Kx3+11
9) | Saisr(G) | 5|10 6 | 7| 8| A.Gx5-4 B.Gx2+6
Sortir 14 | 24 | 16 | 18 | 20 C.Gx2 D.Gx2+4
10) | Saisir(F) | 6 | 8| 7 | 5|10 | AFx9+4 B.Fx5+7
Sortir 30|40 |3 |25 |5 | CFx5 D.Fx5-6
1-10 90|80 70|60 |50]40]30]20[10] O |
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir@ | 6| 7|5 |10| 8| AJx2-5 B.Jx6 . D
Sortir 8| 9|7 |12]|10| CJIx6+6 D.J+2
> B
2) | Saisir(U) | 13| 15|10 |12 |11 | A.Ux8+8 B.U-5 ; B
Sortir 8|10 5| 7| 6| CuUxs D.Ux8 '
s D
3) | Saisr(w) | 5|6 |10 8| 7| Awx4 B.Wx4+9 i A
Sortir 29 13349 |41|37| CWx9 D.Wx4+11 '
6 D
4) | Saisr(N) | 5|6 | 8| 7 [10| ANx11-3 B.Nx8-5 . C
Sortir 40 | 48 | 64 | 56 | 80 | C.N+3 D.Nx8 '
g. B
S5) | Saisr(P) | 8 |10 7 | 6| 5| A.P+3 B.Px3+11 o D
Sortir 11 | 13 | 10| 9 8 C.Px3-10 D.P+9
10. C
6) | Saisr(v) | 7|10 8| 6 | 5| AV+6 B.V+7
Sortir 35| 53|41 |29 | 23 C.Vx5-7 D.Vx6-7
)| Saisir(z) | 5| 8| 7 |10| 6 | A.Zx6 B.Zx8+8
Sortir 22140 | 34 | 52| 28| C.Zx6-8 D.Zx6-9
8 | Saisr(K) |10| 8 | 5| 6| 7| AKx3 B.Kx3+8
Sortir 38|32 |23|26| 29| CKx8+8 D.Kx3+11
9) | Saisr(G) | 5|10 6 | 7| 8| A.Gx5-4 B.Gx2+6
Sortir 14 | 24 | 16 | 18 | 20 C.Gx2 D.Gx2+4
10) | Saisir(F) | 6 | 8| 7 | 5|10 | AFx9+4 B.Fx5+7
Sortir 30|40 |3 |25 |5 | CFx5 D.Fx5-6
1-10 90|80 70|60 |50]40]30]20[10] O |
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JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
| SaisrW) | 4|9 |3]7 | 2| AWx14+10 B.Wx9+9 .
Sortir 1318 |12 |16 | 11| C.Wx10 D.W+9 '
2.
2) | Saisir(P) | 2| 4| 3|9]| 7| APx5+9 B.P+9 ;
Sortir 19 | 29 | 24 | 54 | 44| C.Px9+9 D.P+5 '
4,
3| Saisir(d) | 7| 4] 9| 2] 3| AJI+7 B.Jx7-11 :
Sortir 40|19 |54 | 5 | 12| CJIx9+9 D.Jx7-9 '
6.
4 | saisir(F) | 4| 72| 9] 3] AFx10 B.Fx14+2 ,
Sortir 42| 72|22]9|32| CF+10 D.Fx10+2 '
8.
5) | Saisir(G) |16 | 14| 9 |11 | 10| A.Gx9+9 B.Gx7 o
Sortir 9| 7| 2| 4]|3] CGx9 D.G-7
10.
6) | Saisr(y) | 9| 4| 7| 3| 2| AY+10 B.Y x10-4
Sortir 90 | 40 | 70 | 30 | 20 C.YXx3 D.Y x10
7) | Saisir(L) 10| 8 | 13| 15| 9 | A.Lx6-9 B.L+8
Sortir 41211719 3]| CL-6 D.Lx6+9
8 | Saisr(R) | 9| 3| 7| 4| 2| ARx7+6 B.Rx2-9
Sortir 11| 5| 9| 6| 4| CR+2 D.R+6
9 | Saisr(T) | 4| 9| 2|3 | 7| AT+9 B.Tx3+9
Sortir 21 136 | 15| 18 | 30 C.Tx3+10 D.Tx4-9
10) | Ssaisir(H) | 2 | 3| 4| 9| 7| AHx7-9 B.Hx5-9
Sortir 1 6 | 11| 36 | 26 C.H+9 D.H+5
1-10 90|80 70|60 |50]40]30]20[10] O |
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
| SaisrW) | 4|9 |3]7 | 2| AWx14+10 B.Wx9+9 . D
Sortir 1318 |12 |16 | 11| C.Wx10 D.W+9
> A
2) | Saisir(P) | 2| 4| 3|9]| 7| APx5+9 B.P+9 ; D
Sortir 19 | 29 | 24 | 54 | 44| C.Px9+9 D.P+5 '
4. D
3| Saisir(d) | 7| 4] 9| 2] 3| AJI+7 B.Jx7-11 : D
Sortir 40|19 |54 | 5 | 12| CJIx9+9 D.Jx7-9 '
6 D
4) | saisr(F) | 4| 72| 9| 3| AFx10 B.Fx14+2 , C
Sortir 272122192 (32| CF+10 D.Fx10+2 '
g. C
5) | Saisir(G) |16 | 14| 9 |11 | 10| A.Gx9+9 B.Gx7 o B
Sortir 9| 7| 2| 4]|3] CGx9 D.G-7
0. B
6) | Saisr(y) | 9| 4| 7| 3| 2| AY+10 B.Y x10-4
Sortir 90 | 40 | 70 | 30 | 20 C.YXx3 D.Y x10
7) | Saisir(L) 10| 8 | 13| 15| 9 | A.Lx6-9 B.L+8
Sortir 41211719 3]| CL-6 D.Lx6+9
8 | Saisr(R) | 9| 3| 7| 4| 2| ARx7+6 B.Rx2-9
Sortir 11| 5| 9| 6| 4| CR+2 D.R+6
9 | Saisr(T) | 4| 9| 2|3 | 7| AT+9 B.Tx3+9
Sortir 21 136 | 15| 18 | 30 C.Tx3+10 D.Tx4-9
10) | Ssaisir(H) | 2 | 3| 4| 9| 7| AHx7-9 B.Hx5-9
Sortir 1 6 | 11| 36 | 26 C.H+9 D.H+5
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Maths ] www.CommonCoreSheets.fr 3




JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
1) | Saisir(H) | 7|10 4| 6 | 9| AHx2 B.H+9 .
Sortir 16 | 19 | 13 | 15| 18| C.Hx9-1 D.Hx11-2 '
2.
2) | saisr(L) | 6 |10] 9| 7| 4| ALx10 B.Lx5-10 ;
Sortir 46 | 70 | 64 | 52 | 34 | C.Lx6+10 D.L +10 '
4,
3 | Saisir(G) | 9 |10 7 | 4| 6| A.Gx10-2 B.G+10 :
Sortir 88|98 |68 |3 |58| C.Gx13+2 D.Gx11-2 '
6.
4) | Saisir(Q) | 14|18 |12 |17 | 15| A.Qx11-10 B.Q x 10 .
Sortir 6 |10 4| 9|7 ]| CQ-8 D.Qx 10+ 10 '
8.
S) | Saisr(F) | 7| 4 |10| 6 | 9| A.F+10 B.Fx 10 o
Sortir 17 | 14 | 20 | 16 | 19| C.F+3 D.Fx10+5
10.
6) | Saisir(N) [ 20|17 | 14|19 | 16| A.N+2 B.N-10
Sortir 107 |4 9] 6| CN+10 D.Nx10+4
)| Saisr(U) | 4| 6] 7 |10] 9| AUx4+10 B.U+4
Sortir 2533|3749 |45| C.Ux9+9 D.Ux4+9
8 | Saisr(M) |10 9| 4| 7| 6| AM+10 B.M x 10 + 10
Sortir 40 | 35|10 | 25| 20| C.Mx5-10 D.M x 6-10
9 | Saisir(d) | 7| 9| 4|6 |10 AJIx7+12 B.Jx7+9
Sortir 58 | 72 | 37 | 51 | 79 | C.J+9 D.J+7
10) | Saisir(P) | 9| 4| 6| 7 |10| APx7-9 B.Px7
Sortir 63 | 28 | 42 | 49 | 70 C.P+8 D.Px11+8
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
1) | Saisir(H) | 7|10 4| 6 | 9| AHx2 B.H+9 . B
Sortir 16 | 19 | 13 | 15| 18| C.Hx9-1 D.Hx11-2
2. C
2) | saisr(L) | 6 |10] 9| 7| 4| ALx10 B.Lx5-10 ; A
Sortir 46 | 70 | 64 | 52 | 34 | C.Lx6+10 D.L +10 '
s C
3 | Saisir(G) | 9 |10 7 | 4| 6| A.Gx10-2 B.G+10 : A
Sortir 88|98 |68 |3 |58| C.Gx13+2 D.Gx11-2 '
6 B
4) | Saisir(Q) | 14|18 |12 |17 | 15| A.Qx11-10 B.Q x 10 . D
Sortir 6 |10 4| 9|7 ]| CQ-8 D.Qx 10+ 10 '
g. C
S) | Saisr(F) | 7| 4 |10| 6 | 9| A.F+10 B.Fx 10 o B
Sortir 17 | 14 | 20 | 16 | 19| C.F+3 D.Fx10+5
0. B
6) | Saisir(N) [ 20|17 | 14|19 | 16| A.N+2 B.N-10
Sortir 107 |4 9] 6| CN+10 D.Nx10+4
)| Saisr(U) | 4| 6] 7 |10] 9| AUx4+10 B.U+4
Sortir 2533|3749 |45| C.Ux9+9 D.Ux4+9
8 | Saisr(M) |10 9| 4| 7| 6| AM+10 B.M x 10 + 10
Sortir 40 | 35|10 | 25| 20| C.Mx5-10 D.M x 6-10
9 | Saisir(d) | 7| 9| 4|6 |10 AJIx7+12 B.Jx7+9
Sortir 58 | 72 | 37 | 51 | 79 | C.J+9 D.J+7
10) | Saisir(P) | 9| 4| 6| 7 |10| APx7-9 B.Px7
Sortir 63 | 28 | 42 | 49 | 70 C.P+8 D.Px11+8
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JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(G) | 8| 7| 3| 9| 4| AGx2+9 B.Gx9 .
Sortir 25 (23|15 |27 | 17| C.Gx2+12 D.Gx2 '
2.
2) | Saisir(F) | 9| 7| 4| 3| 8| AFx2+12 B.F+2 ;
Sortir 11| 9 | 6 | 5 |10| CFx7+10 D.Fx2 '
4,
3| Saisir(d) | 3|8 | 4|9 7| AJ+2 B.Jx2+7 :
Sortir 10 20|12 | 22| 18| C.Jx4 D.Jx2+4 '
6.
4) | Saisir(K) | 4| 38| 7] 9| AKx3 B.Kx8-3 ,
Sortir 24 | 18 | 48 | 42 | 54 | C.Kx6 D.K +3 '
8.
S) | Saisir(V) | 7| 9| 3| 8| 4| AVx9 B.Vx3-9 o
Sortir 23|27 |15 | 25 | 17 C.Vx2+9 D.V+2
10.
6) | Saisir(z) | 15|14 10| 9 | 13| A.Zx9 B.Z-6
Sortir 9 8 4 3 7 C.Z+6 D.Zx6
)| Saisir(T) | 3| 8] 4| 9] 7| ATx5-9 B.T+2
Sortir 510 6 |11 | 9 | C.Tx5+9 D.Tx9
8 | Saisr(Q | 4| 3| 9| 7| 8| AQx9 B.Qx6-9
Sortir 11| 6 | 36|26 | 31| C.Qx5-10 D.Qx5-9
9 | Saisir(M) | 4 | 3| 7| 9| 8| AMx12-7 B.M x 10
Sortir 40 130|709 |80 | C.Mx10-8 D.M +10
10) | Saisir(H) | 18 | 17 | 14 | 13 | 19 | A.Hx9 B.H-10
Sortir 8 7 4 3 9 C.H+9 D.Hx12-9
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(G) | 8| 7| 3| 9| 4| AGx2+9 B.Gx9 . A
Sortir 25 (23|15 |27 | 17| C.Gx2+12 D.Gx2 '
> B
2) | Saisir(F) | 9| 7| 4| 3| 8| AFx2+12 B.F+2 ; D
Sortir 11| 9 | 6 | 5 |10| CFx7+10 D.Fx2 '
s C
3| Saisir(d) | 3|8 | 4|9 7| AJ+2 B.Jx2+7 : C
Sortir 10 |20 | 12 | 22 | 18 | C.Jx4 D.Jx2+4 '
6 B
4) | Saisir(K) | 4| 38| 7] 9| AKx3 B.Kx8-3 , B
Sortir 24 | 18 | 48 | 42 | 54| C.Kx6 D.K +3 '
g. D
S) | Saisir(V) | 7| 9| 3| 8| 4| AVx9 B.Vx3-9 o B
Sortir 23|27 |15 | 25 | 17 C.Vx2+9 D.V+2
0. B
6) | Saisir(z) | 15|14 10| 9 | 13| A.Zx9 B.Z-6
Sortir 9 8 4 3 7 C.Z+6 D.Zx6
)| Saisir(T) | 3| 8] 4| 9] 7| ATx5-9 B.T+2
Sortir 5110 6 | 11| 9 | C.Tx5+9 D.Tx9
8 | Saisr(Q | 4| 3| 9| 7| 8| AQx9 B.Qx6-9
Sortir 11 | 6 |36 |26 | 31| C.Qx5-10 D.Qx5-9
9| SaisrM) | 4| 3|7 |9 8| AMx12-7 B.M x 10
Sortir 40 |30 | 70| 90 | 80| C.Mx10-8 D.M +10
10) | Saisir(H) | 18 | 17 | 14 | 13 | 19 | A.Hx9 B.H-10
Sortir 8 7 4 3 9 C.H+9 D.Hx12-9
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|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisr(R) |11 |15 13| 9 | 8 | A.Rx9 B.Rx5+10 .
Sortir 6 |10 8| 4| 3| CRx5-12 D.R-5 '
2.
2) | Saisir(P) | 8| 3| 4|6 |10| A.Px9 B.P+3 ;
Sortir 17 |12 | 13| 15| 19| C.P+9 D.Px8-3 '
4,
3 | Saisr(T) | 3|8 |6 |10] 4| ATx2 B.Tx2-6 :
Sortir 6 |16 12| 20| 8 | C.Tx6+4 D.Tx2+3 '
6.
4) | saisr(v) | 3| 6| 4| 8|10 AVx10-9 B.V x9 ,
Sortir 21 |51 |31 | 71|91 | CVx10+11 D.V x 10 '
8.
S5) | Saisir(L) | 6 | 4 | 3| 8|10 A.Lx5 B.Lx5+9 o
Sortir 37 | 27| 22 | 47 | 57| C.Lx5+7 D.L+5
10.
6) | Saisr(d) |17 |13 | 12| 15| 19| A.Jx9 B.Jx9-10
Sortir 8| 4|3|6]|10| CJ-9 D.J+9
7)) | Saisr(U) | 3| 8|6 |10] 4| AUx5-8 B.U+5
Sortir 7 | 32|22 |42|12| CU+8 D.Ux5
8 | Saisr(N) | 3| 4|6 | 8|10 ANx7+10 B.Nx7+8
Sortir 29 |36 |5 |64 | 78| C.Nx7-9 D.N+7
9) | SaisrH) | 8| 4|6 | 3|10 AHx11+9 B.Hx8+11
Sortir 64 | 32 | 48 | 24 | 80 C.Hx8 D.Hx9
10) | saisir(z) | 6 | 3 |10| 8 | 4| A.Zx2-6 B.Zx3-5
Sortir 17 |11 | 25| 21 | 13 C.Zx2+5 D.Z+5
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|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisr(R) |11 |15 13| 9 | 8 | A.Rx9 B.Rx5+10 . D
Sortir 6 |10 8| 4| 3| CRx5-12 D.R-5 '
2. C
2) | Saisir(P) | 8| 3| 4|6 |10| A.Px9 B.P+3 ; A
Sortir 17 |12 | 13| 15| 19| C.P+9 D.Px8-3 '
s A
3 | Saisr(T) | 3|8 |6 |10] 4| ATx2 B.Tx2-6 : C
Sortir 6 |16 12| 20| 8 | C.Tx6+4 D.Tx2+3 '
6 C
4) | saisr(v) | 3| 6| 4| 8|10 AVx10-9 B.V x9 , A
Sortir 21 |51 |31 | 71|91 | CVx10+11 D.V x 10 '
g. B
S5) | Saisir(L) | 6 | 4 | 3| 8|10 A.Lx5 B.Lx5+9 o C
Sortir 37 | 27| 22 | 47 | 57| C.Lx5+7 D.L+5
10. C
6) | Saisr(d) |17 |13 | 12| 15| 19| A.Jx9 B.Jx9-10
Sortir 8| 4|3|6]|10| CJ-9 D.J+9
7)) | Saisr(U) | 3| 8|6 |10] 4| AUx5-8 B.U+5
Sortir 7 | 32|22 |42|12| CU+8 D.Ux5
8 | Saisr(N) | 3| 4|6 | 8|10 ANx7+10 B.Nx7+8
Sortir 29 |36 |5 |64 | 78| C.Nx7-9 D.N+7
9) | SaisrH) | 8| 4|6 | 3|10 AHx11+9 B.Hx8+11
Sortir 64 | 32 | 48 | 24 | 80 C.Hx8 D.Hx9
10) | saisir(z) | 6 | 3 |10| 8 | 4| A.Zx2-6 B.Zx3-5
Sortir 17 |11 | 25| 21 | 13 C.Zx2+5 D.Z+5
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|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(S) | 3| 4| 6| 5| 8| A.Sx9+4 B.Sx8-4 .
Sortir 21 | 28|42 |35 |5 | C.Sx7 D.Sx4 '
2.
2) | Saisir(V) | 4| 6| 5| 3| 8| AvVx7-8 B.Vx4+7 ;
Sortir 16 | 24|20 | 12| 32| CVx4 D.V+8 '
4,
3 | Saisir(Y) | 4| 8| 5| 6| 3| AYx2 B.Y +2 i
Sortir 17 | 25|19 | 21| 15| CYx2-8 D.Yx2+9 '
6.
4) | Saisr(M) |14 |10 |11 | 12| 9 | A Mx8+8 B.M-6 ,
Sortir 8| 4|5|6 ]3| cM+8 D.M x8 '
8.
S) | Saisr(z) | 3| 5| 8|6 | 4| AZ+10 B.Zx13-9 o
Sortir 21 | 41| 71|51 |31 | CzZx9 D.Zx10-9
10.
6) | Saisr(F) | 4 | 6 | 8| 5| 3| AFx6 B.F+3
Sortir 719 |11| 8| 6| CF+6 D.Fx3+8
| Saisr@) | 4| 8| 5|6 | 3| AJx9 B.J+9
Sortir 1317 |14 | 15| 12| C.Jx3 D.J+3
8 | Saisr(N) | 6 | 4| 3| 5| 8| ANx6-7 B.N+6
Sortir 29|17 |11 | 23| 41| C.N+7 D.Nx11+7
9 | Saisr(T) |13|10| 15|12 | 11| A.T-7 B.T x 10
Sortir 6 3 8 5 4 C.Tx7+9 D.Tx7-12
10) | saisr(R) | 4 | 3| 5| 8| 6 | ALRx9+8 B.Rx8-8
Sortir 44 | 35 | 53 | 80 | 62 C.R+8 D.R+9
1-10 90|80 70|60 |50]40]30]20[10] O |
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|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(S) | 3| 4| 6| 5| 8| A.Sx9+4 B.Sx8-4 . C
Sortir 21 | 28|42 |35 |5 | C.Sx7 D.Sx4 '
2. C
2) | Saisir(V) | 4| 6| 5| 3| 8| AvVx7-8 B.Vx4+7 ; D
Sortir 16 | 24|20 | 12| 32| CVx4 D.V+8 '
4. B
3 | Saisir(Y) | 4| 8| 5| 6| 3| AYx2 B.Y +2 i D
Sortir 17 | 25|19 | 21| 15| CYx2-8 D.Y x2+9 '
6. B
4) | Saisr(M) |14 |10 |11 | 12| 9 | A Mx8+8 B.M-6 , B
Sortir 8| 4|5|6 ]3| cM+8 D.M x8 '
g. A
S) | Saisr(z) | 3| 5| 8|6 | 4| AZ+10 B.Zx13-9 o A
Sortir 21 | 41| 71|51 |31 | CzZx9 D.Zx10-9
0. A
6) | Saisr(F) | 4 | 6 | 8| 5| 3| AFx6 B.F+3
Sortir 719 |11| 8| 6| CF+6 D.Fx3+8
| Saisr@) | 4| 8| 5|6 | 3| AJx9 B.J+9
Sortir 1317 |14 | 15| 12| C.Jx3 D.J+3
8 | Saisr(N) | 6 | 4| 3| 5| 8| ANx6-7 B.N+6
Sortir 29 |17 | 11 | 23 | 41| C.N+7 D.Nx11+7
9 | Saisr(T) |13|10| 15|12 | 11| A.T-7 B.T x 10
Sortir 6 3 8 5 4 C.Tx7+9 D.Tx7-12
10) | saisr(R) | 4 | 3| 5| 8| 6 | ALRx9+8 B.Rx8-8
Sortir 44 | 35 | 53 | 80 | 62 C.R+8 D.R+9
1-10 90|80 70|60 |50]40]30]20[10] O |
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JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
| Saisir(m) | 2| 7| 6| 9| 8| AT+3 B.Tx8+6 .
Sortir 5110 9 |12 11| C.Tx2-6 D.Tx6 '
2.
2) | saisir(v) | 8| 76| 9| 2| AVx10+6 B.V x10- 10 ;
Sortir 80| 70|60 |9 | 20| C.Vx10 D.V +10 '
4,
3 | Saisir(G) | 8| 7| 6| 9| 2| AGx10 B.Gx7-10 :
Sortir 46 | 39 | 32|53 | 4| C.Gx10+10 D.G+10 '
6.
4) | saisir(Y) | 7| 2| 8| 9| 6| AYx10+2 B.Y x14+2 ,
Sortir 721228 |92|62| CYx9-2 D.Y x10-3 '
8.
S5 | Saisr(R) | 2| 7| 8| 6| 9| ARx6 B.Rx7+6 o
Sortir 12 | 27 | 30 | 24 | 33 C.Rx3+6 D.R+6
10.
6) | Saisr(F) | 8| 6| 7| 2] 9| AFx11-2 B.Fx10+1
Sortir 78| 58|68 |18 |8 | C.F+10 D.Fx10-2
| SaisrU) | 2| 6] 9| 7| 8| AU+5 B.Ux7-10
Sortir 7 |11 |14 |12 | 13| C.U+10 D.Ux5+13
8) | Saisr(H) |17 |18 |19 |16 | 12| A.H+10 B.H-10
Sortir 718|196 ]| 2| CHx10 D.Hx14+9
9 | Saisr@Q) | 2| 96| 7| 8| AQx4+5 B.Qx4
Sortir 8 | 36|24 |28|32| CQx9+6 D.Q+4
10) | saisir(z) | 13| 15|16 | 9 | 14| A.Zx9+9 B.Zx7+8
Sortir 6 | 8|9 | 2| 7| Czx7 D.Z-7
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
| Saisir(m) | 2| 7| 6| 9| 8| AT+3 B.Tx8+6 . A
Sortir 5110 9 |12 11| C.Tx2-6 D.Tx6 '
2. C
2) | saisir(v) | 8| 76| 9| 2| AVx10+6 B.V x10- 10 ; B
Sortir 80| 70|60 |9 | 20| C.Vx10 D.V +10 T
s A
3 | Saisir(G) | 8| 7| 6| 9| 2| AGx10 B.Gx7-10 : C
Sortir 46 | 39 | 32|53 | 4| C.Gx10+10 D.G+10 R
6. _ D
4) | saisir(Y) | 7| 2| 8| 9| 6| AYx10+2 B.Y x14+2 , A
Sortir 721228 |92|62| CYx9-2 D.Y x10-3 .
g. B
S5 | Saisr(R) | 2| 7| 8| 6| 9| ARx6 B.Rx7+6 o B
Sortir 12 | 27 | 30 | 24 | 33 C.Rx3+6 D.R+6
0. D
6) | Saisr(F) | 8| 6| 7| 2] 9| AFx11-2 B.Fx10+1
Sortir 78| 58|68 |18 |8 | C.F+10 D.Fx10-2
| SaisrU) | 2| 6] 9| 7| 8| AU+5 B.Ux7-10
Sortir 7 |11 |14 |12 | 13| C.U+10 D.Ux5+13
8) | Saisr(H) |17 |18 |19 |16 | 12| A.H+10 B.H-10
Sortir 718|196 ]| 2| CHx10 D.Hx14+9
9 | Saisr@Q) | 2| 96| 7| 8| AQx4+5 B.Qx4
Sortir 8 | 36|24 |28|32| CQx9+6 D.Q+4
10) | saisir(z) | 13| 15|16 | 9 | 14| A.Zx9+9 B.Zx7+8
Sortir 6 | 8|9 | 2| 7| Czx7 D.Z-7
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JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(T) | 9| 4| 2|10]| 7| ATx7-9 B.Tx9 .
Sortir 54 | 19| 5 | 61|40 | C.T+9 D.Tx7-11 '
2.
2) | Saisir(P) | 4| 2|10 9| 7| APx7 B.Px7+7 ;
Sortir 28|14 | 70 | 63|49 | C.P+4 D.P+7 '
4,
3| Saisr(H) |10 4 | 2| 9| 7| AH+10 B.Hx10-4 :
Sortir 102 42 | 22 |92 | 72| C.H+2 D.Hx10+2 '
6.
4| Saisir(G) | 7| 2| 9|10 4| AGx8+4 B.Gx11-2 ,
Sortir 1510 | 17 | 18| 12| C.Gx8-1 D.G+8 '
8.
S) | Saisir(L) | 2 |20 4| 9| 7| AL+9 B.Lx4 o
Sortir 11 | 19 | 13| 18 | 16 | C.Lx9-7 D.L x9
10.
6) | Saisr(Q | 7| 4 10| 9| 2] AQx9+11 B.Qx9
Sortir 73|46 [100| 91 | 28| C.Qx9+10 D.Qx12-10
7) | SaisrM) |14 7 |12|15]| 9 | A.Mx10 B. M x 10 + 10
Sortir 9| 2|7 |10] 4| CMx7-10 D.M-5
8 | Saisir( | 2| 4|10 7| 9| AJIx7 B.Jx5+9
Sortir 31343 |28|38| C.JIx4-7 D.Jx5-7
9) | Saisir(R) |10 9 | 7| 2| 4| AR+9 B.Rx11-2
Sortir 90 | 81|63 |18 |3 | C.Rx9-5 D.Rx9
10) | Saisir(N) | 7| 2 | 4| 9 |10| ANx2+9 B.Nx3-9
Sortir 23 | 13| 17 | 27 | 29 C.Nx7+9 D.N+2
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(T) | 9| 4| 2|10]| 7| ATx7-9 B.Tx9 . A
Sortir 54 |19 | 5 | 61|40 | C.T+9 D.Tx7-11 '
2. A
2) | Saisir(P) | 4| 2|10 9| 7| APx7 B.Px7+7 ; D
Sortir 28|14 | 70 | 63|49 | C.P+4 D.P+7 '
4. D
3| Saisr(H) |10 4 | 2| 9| 7| AH+10 B.Hx10- 4 i A
Sortir 102| 42 | 22| 92| 72| C.H+2 D.Hx10+2 '
6 C
4| Saisir(G) | 7| 2| 9|10 4| AGx8+4 B.Gx11-2 , D
Sortir 15|10 | 17 | 18 | 12| C.Gx8-1 D.G+8 '
g. D
S) | Saisir(L) | 2 |20 4| 9| 7| AL+9 B.Lx4 o D
Sortir 11 19| 13|18 | 16| C.Lx9-7 D.Lx9
0. A
6) | Saisr(Q | 7| 4 10| 9| 2] AQx9+11 B.Qx9
Sortir 73|46 |100| 91 | 28| C.Qx9+10 D.Qx12-10
7) | SaisrM) |14 7 |12|15]| 9 | A.Mx10 B.M x 10 + 10
Sortir 9| 2|7 ]10| 4| CMx7-10 D.M-5
8 | Saisir( | 2| 4|10 7| 9| AJIx7 B.Jx5+9
Sortir 3134328 (38| CJIx4-7 D.Jx5-7
9) | Saisir(R) |10 9 | 7| 2| 4| AR+9 B.Rx11-2
Sortir 90 |81 | 63|18 |36 | C.Rx9-5 D.Rx9
10) | Saisir(N) | 7| 2 | 4| 9 |10| ANx2+9 B.Nx3-9
Sortir 23 | 13| 17 | 27 | 29 C.Nx7+9 D.N+2
1-10 90|80 70|60 |50]40]30]20[10] O |
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JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(z) | 9| 5| 7| 2|10 A.Zx6-8 B.Zx7-11 .
Sortir 71|43 |57 | 22| 78| C.Zx7+8 D.Z+8 '
2.
2) | saisr@Q | 9| 5| 7| 2|10 AQ+4 B.Qx3+3 .
Sortir 12| 8 |10| 5 | 13| C.Qx3 D.Q+3 '
4,
3 | Saisir(V) | 2| 5|10 7] 9| AVx7+10 B.Vx7-8 i
Sortir 6 | 27| 62|41 |5 ]| CVx8 D.Vx7-7 '
6.
4 | Saisir(Y) | 5| 7| 210 9| AY+7 B.Y*x3-6 .
Sortir 2228|1337 |34| CYx7 D.Y x3+7 '
8.
S5) | Saisr(M) | 7| 5| 2| 9 |10 AMx4+7 B.Mx4+6 o
Sortir 34| 26| 14 | 42 | 46 C.M+4 D.M x 6
10.
6) | SaisrP) | 7| 2] 9|10 5| AP+8 B.Px9
Sortir 5 |1 10| 73 | 82 | 37 C.Px9-8 D.Px9-10
)| Saisir(K) | 2|10 7| 9| 5| AK+10 B.Kx13-4
Sortir 12 20|17 | 19| 15| C.Kx4 D.Kx13+4
8) | Saisr(H) | 20|12 | 15|19 |17 | A.Hx10-5 B.H+10
Sortir 102 |5| 9|7 ]| CHx11-2 D.H-10
9) | Saisr(G) | 7] 2|10 5| 9| AGx2-6 B.Gx2+4
Sortir 14 | 4 | 20 | 10 | 18 C.Gx2 D.Gx1-3
10) | Saisir(L) | 20|12 |17 | 15| 19| A.L-10 B.Lx13-2
Sortir 02|75 9| CL+10 D.Lx10-5
1-10 90|80 70|60 |50]40]30]20[10] O |
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JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
)| Saisir(z) | 9| 5| 7| 2|10 A.Zx6-8 B.Zx7-11 . C
Sortir 71|43 |57 |2 | 78| CzZx7+8 D.Z+8
> D
2) | saisr@Q | 9| 5| 7| 2|10 AQ+4 B.Qx3+3 . B
Sortir 12| 8 10| 5 | 13| C.Qx3 D.Q+3
s D
3 | Saisir(V) | 2| 5|10 7] 9| AVx7+10 B.Vx7-8 i B
Sortir 6 | 27| 62|41 |5 | CVx8 D.Vx7-7 '
. C
4 | Saisir(Y) | 5| 7| 210 9| AY+7 B.Y*x3-6 . A
Sortir 22|28 |13 37|33 | CVYx7 D.Y x3+7 '
8 D
S5) | Saisr(M) | 7| 5| 2| 9 |10 AMx4+7 B.Mx4+6 o C
Sortir 34| 26| 14 | 42 | 46 C.M+4 D.M x 6
0. A
6) | SaisrP) | 7| 2] 9|10 5| AP+8 B.Px9
Sortir 5 |1 10| 73 | 82 | 37 C.Px9-8 D.Px9-10
)| Saisir(K) | 2|10 7| 9| 5| AK+10 B.Kx13-4
Sortir 12 20|17 |19 | 15| C.Kx4 D.Kx13+4
8) | Saisr(H) | 20|12 | 15|19 |17 | A.Hx10-5 B.H+10
Sortir 02|59 | 7| CHx11-2 D.H-10
9) | Saisr(G) | 7] 2|10 5| 9| AGx2-6 B.Gx2+4
Sortir 14 | 4 | 20 | 10 | 18 C.Gx2 D.Gx1-3
10) | Saisir(L) | 20|12 |17 | 15| 19| A.L-10 B.Lx13-2
Sortir 02|75 9| CL+10 D.Lx10-5
1-10 90|80 70|60 |50]40]30]20[10] O |
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